Opérations Mixtes (A)

Effectuez chaque opération.

187 +17 = 14 x17 = 85+ 17 = 20x 17 =
2% 17 = 17 x10 = 11 x17= 2x17=
17x12= 17+17 = 6817 = 12x 17 =
238 +17 = 102 17 = 23817 = 17x8=
17+17 = 2x 17 = 5117 = 11917 =
3x17= I5x17 = 34+-17= 17 x6=
17 x8 = 22117 = 30617 = 51+17=
17x19 = 17+17= 27217 = 323 +17 =
11917 = 20417 = 17x8 = 272 17 =
6817 = 14x17= 11917 = 5117 =
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Opérations Mixtes Solutions (A)

187+=17=11

12 x 17 =204

17 x 12 =204

238 =17=14

17+-17=1

3x17=51

17x 8 =136

17 x 19 =323

119+-17=7

68+-17=4

Effectuez chaque opération.

14 x 17 =238

17x10=170

17+-17=1

102+-17=6

2x17=34

15 x 17 =255

221+17=13

17-17=1

204=-17=12

14 x 17 =238

85+-17=5

11 x17 =187

68=-17=4

238 +-17=14

51+-17=3

34+-17=2

306 +-17 =18

272 +-17=16

17x8 =136

119+17=7

20 x 17 = 340

2x17=34

12 x 17 =204

17x8 =136

119+17=7

17x6=102

51+17=3

323 +-17=19

272+-17=16

51+17=3
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